Controller, Harness, Cables, Programmer and Hardware

MKIV Quad Pulse

Effective 12/19/03, MK5 NX-80 replaced MKIV RIl as standard electronics on 400 Lb. limit chairs and PTO

seating system chairs.

Effective 4/1/04, MK5 NX-80 replaced MKIV RII as standard electronics on 300 Lb. limit chairs.

f

= —T1

A
AN
£ A
K¢
) /
.
g 0,

(%

N\

3

N Vs =5

—ANE

—Lat/

Programmer

Extension Cable

Base Frame Assembly

shown for reference only



Controller, Harness, Cables, Programmer and Hardware

MKIV Quad Pulse

Effective 12/19/03, MK5 NX-80 replaced MKIV RIl as standard electronics on 400 Lb. limit chairs and PTO

seating system chairs.

Effective 4/1/04, MK5 NX-80 replaced MKIV RII as standard electronics on 300 Lb. limit chairs.

Quantity Per
Item
Number | Note | Part Number |Description Package | Assembly
1 1116608-NLA | NLA - Shroud, MKIV Controller 1 1
2 1114308 Screw, Phillips Pan Head Tap (#10-32 x 1/2") 1 2
3 1042484-NLA | NLA - Screw, Hex Head (5/16-18 x 2") 1 2
4 1117042 Controller, MKIV Quad Pulse 1 1
5 1026158 Locknut (5/16-18) 1 1
6 1116430-NLA | NLA - Bracket, Port, Black 1 1
7 1037373-NLA | NLA - Cover, Splash 1 1
8 1040226-NLA | NLA - Rivet, Nylon 1 1
9 1074983-NLA | NLA - Cable, Limit Switch Sensor 1 1
10 1094872 Cable Option with Phono Jack 1 1
11 1092912-NLA | NLA - Programmer Extension Cable Assembly (18" 1 1
Long)
12 E 1116613-NLA | NLA - Cable, Joystick Jumper 1 1
13 1116609-NLA | NLA - Harness, Wire, MKIV Quad Pulse, M91 1 1
14 1101099-NLA | NLA - Fuse, Buss ATC-20 (20 AMP) 1 1
15 1090117-NLA | NLA - Fuse - Buss Mini ATM-15 (15 AMP) 1 1
16 AH 1112783-NLA | NLA - Bracket with Hardware, Controller, M91/M94 1 1
17 NLA - Screw (#8-32 x 1/2") 1 1
18 NLA - Screw, Hex Head (5/16-18 x 3/4") 1 1
19 Washer, Steel (5/16 x 3/4 x 1/16") 1 1
20 Locknut (5/16-18) 1 1
21 NLA - Bracket, Controller Mounting, Black 1 1
Tie Wrap (11-1/2" L) 1 1
22 F 1020818 Switch, Red Flex Ribbon (Tape) Reset 1 1
22 G 1123276 Kit, Switch, Black Egg Reset w/ Hook/Loop 1 1
Adhesive Back Fastener & Attaching Screws
(EGSBLK)
23 1109091-NLA | NLA - Programmer, Remote 1 1
B,C 1064404-NLA | NLA - Virtual Service Modem Kit 1 1
B,D 1091631-NLA | NLA - Virtual Service Software Kit 1 1
B,C 1103051-NLA | NLA - MKIV One 2 One Software Kit 1 1
B 1095204-NLA | NLA - Cable, Virtual Service, Charger/Modem 1 1
B 1091980-NLA | NLA - Disk, 3.5 H.D. Floppy with V.S. Software 1 1
B 1091637-NLA | NLA - Adaptor, Null Modem 1 1
B 1091636-NLA | NLA - Service Manual - V.S. Software Kit 1 1
NOTE: A - Includes items 17-21
B - Not Shown

C - Part number 1095204 is not available for individual sale

D - Part numbers 1095204, 1091980, 1091637 and 1091636 are available for individual sale
- Joystick jumper cable is not used when a Power Tilt Only (PTO) seating system is present
F - Before 5/24/04

E

G - Not Shown. After 5/23/04 the Egg Reset Switch replaced the Red Flex Ribbon (Tape) Reset Switch

H - Part number 1110665 item #21 is no longer available for individual sale. Order item #16 as a replacement. Tie Wrap (not
shown) is used for other Controller applications.




